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000000 0OoOooOoooooooooooog
#include <math.h>
#include <stdio.h>
#tdefine RDX 10

main() {
int rb , rmax=32768;

int arb[100];

int i,nmax,number;

int rnd_bQ;

printf("" uniformity random number generation¥n'™);

printf(----——m e ¥n'");
printf("multiplication congruence method¥n™);
printf(t-—-———m e ¥n");

printf('number of data= '); scanf('%d",&nmax);
for(i=0;i<100;i++) arb[i]=0;
while(nmax--) {
rb=rnd_b(Q);
arb[rb/(rmax/RDX)]+=1;
}
Ffor(1=0; I<RDX;i++)
printf (' no=¥thd¥t¥thd¥n",i,arb[i]);
printf(type any key:™);

int rnd_b() /* multiplication congruence method */

{
static long unsigned int x=257, a=2045, p=32768;

x=((@*x)%p);
return((int)x);
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#include <math.h>
#include <stdio.h>
#tdefine RDX 10

main() {

int rc, rmax=32768;

int arc[100];

int i1,nmax,number;

int rnd_cQ;

printf("" uniformity random number generation¥n');

printf(-—--——m e ¥n'™);
printf("'mixed congruence method¥n™);
printf(----——m e e ¥n'™);

printf('number of data= '); scanf("'%d",&nmax);
for(i=0;i<100;i++) arc[i]=0;
while(nmax--) {
rc=rnd_c(Q);
arc[rc/(rmax/RDX)]+=1;
}
for(1=0; I<RDX;i++)
printf('no=¥thd¥t¥thd¥n",i,arc[i]);
printf("type any key:™);

int rnd_c() /* mixed congruence method */

{

static long unsigned int a=2045 ,p=32768 ,x=257 ,h=9378;
x=(((a*x)+b)%p);
return((int)x);
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#include <stdio.h>
#include <stdlib.h>
int main(Q) {
int n; /*number of data */
float rnd();
float mat[5000000]; /*variable of matrix */
float imat[5000000];
int i,j; /*number if itration */

int x0,x1,x2,x3,x4,x5,x6,x7,x8,x9;
float temp; /* variable of exchange */
X0=0;x1=0;x2=0;x3=0;x4=0;x5=0;x6=0;x7=0;x8=0;%x9=0;

printf('¥n™);
printf("input number of data n= ");
scanf("'%d",&n);

for(i=0; i<n; i++)
{
mat[i]=rnd();
imat[i]=(int) (10.0*mat[i]);
if(imat[i]==9) x9=x9+1;
else if(imat[i]==8) x8=x8+1;
else if(imat[i]==7) x7=x7+1;
else if(imat[i]==6) x6=x6+1;
else if(imat[i]==5) x5=x5+1;
else if(imat[i]==4) x4=x4+1;

11



else if(imat[i]==3) x3=x3+1;
else if(imat[i]==2) x2=x2+1;
else if(imat[i]==1) x1=x1+1;
else if(imat[i]==0) x0=x0+1;

/*the number of occurrence for each number*/

printf('¥n™);

printf('0=%d¥n",x0);
printf("'1=%d¥n",x1);
printf('2=%d¥n",x2);
printf(*'3=%d¥n",x3);
printf("'4=%d¥n",x4);
printf('5=%d¥n",x5);
printf('6=%d¥n",x6);
printf("'7=%d¥n" ,x7);
printf('8=%d¥n",x8);
printf(*'9=%d¥n",x9);

/*random function */
float rnd()

{

static long i1x=1643;
long i1a=1664525;
float r;
ix=1a*1x+37313;
r=ix*2.32830643658698e-10;
if(ix<0) r=r+l1.0;
return r;
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/* rand function */

float rnd()
{
static long i1x=1643;
long a=69069;
float r;
IX=a*ix;

r=ix*2.328306436538698e-10;
if (ix<0)r=r+1.0;
return r;
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#include <stdio.h>
#include <math.h>
float fan();
float rnd();
main(){
int n,i;
float b,s;
printf("'the number of scatter sands ');
scanf("" %d", &n);
b=0;
for (i=1;i<=n;i++){
it (fan(rnd(),rnd())<=1) b=b+1.0;
}
s=b/n;
printf("'the number of scattered sands =%d¥n",n);
printf(''the number of sands in fan =Wf¥n", b);
printf(area of circle =%f¥n",4.0%s);
}
/* fan function */
float fan (x,y) float x,y; {
return xX*x+y*y;
}
/* rand function */
float rnd()
{
static long i1x=1643;
long a=69069;
float r;
IX=a*ix;
r=ix*2.328306436538698e-10;
if (ix<0)r=r+1.0;
return r;
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#include <math.h>
#include <stdio.h>
#tdefine RDX 10

main() {
int rb , rmax=32768;

int arb[100];

int i1,nmax,number;

int rnd_bQ;

printf("" uniformity random number generation¥n');

printf(-—--——m e ¥n'™);
printf("multiplication congruence method¥n™);
printf(----——m e e ¥n'™);

printf('number of data= '); scanf("'%d",&nmax);
for(i=0;i<100;i++) arb[i]=0;
while(nmax--) {
rb=rnd_b(Q);
arb[rb/(rmax/RDX)]+=1;
}
for(1=0; I<RDX;i++)
printf('no=¥thd¥t¥thd¥n",i,arb[i]);
printf("type any key:™);
test();

int rnd_b() /* multiplication congruence method */

{
static long unsigned int x=257, a=2045, p=32768;

x=((@*x)%p);
return((int)x);

test(){
float rb,t,
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rb2,rb3;
int i,nmax,rnd_b(),rmax=3276.8;
int clsQ;
printf(assay of unformity random number¥n');
while(1){
printf("'number of data, or 0 for QUIT:");scanf(*'%d",&nmax);
if(nmax<=0) break;
printf("multiplication congruence method¥n™);
rb=rb2=rb3=0.0;
for(i=0;i<=nmax;i++){
t=(float)rnd_b()/32768;
rb +=t;rb2+=t*t;rb3 +=t*t*t;

rb /=nmax;

rb2/=nmax;

rb3/=nmax;

printf('Moment¥n');
printf("'lst ¥t¥t%0.7f¥n",rb);
printf(*'2nd ¥t¥t%0.7f¥n",rb2);
printf('3rd ¥t¥t%0.7f¥n",rb3);
printf('¥n™);

37



oobood OoOoobObOoobObOOooOObOoon

#include <math.h>
#include <stdio.h>
#tdefine RDX 10

main() {

int rc, rmax=32768;

int arc[100];

int i1,nmax,number;

int rnd_cQ;

printf("" uniformity random number generation¥n');

printf(-—--——m e ¥n'™);
printf("'mixed congruence method¥n'™);
printf(-—--——m e ¥n'");

printf('number of data= '); scanf("'%d",&nmax);

for(i=0;i<100;i++) arc[i]=0;
while(nmax--) {
rc=rnd_c(Q);
arc[rc/(rmax/RDX)]+=1;
}
for(i=0;i<RDX;i++)
printf('no=¥thd¥t¥thd¥n",i,arc[i]);
printf("type any key:");
test();

int rnd_c() /* mixed congruence method */

{
static long unsigned int a=2045 ,p=32768 ,x=257 ,h=9378;
x=(((@*x)+h)%p);
return((int)x);
}
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test(){
float rc, t,

rc2,rc3;
int i,nmax,rnd_c(),rmax=3276.8;
int clsQ;

printf(assay of unformity random number¥n');

while(l)

{

printf("'number of data, or 0 for QUIT:");scanf(*'%d",&nmax);

if(nmax<=0) break;

printf("'mixed congruence method¥n'™);

rc=rc2=rc3=0.0;

for(i=0;i<=nmax;i++){
t=(float)rnd_c()/32768;
rc +=t;rc2+=t*t;rc3 +=t*t*t;

rc /=nmax;

rc2/=nmax;

rc3/=nmax;

printf('Moment¥n'™);
printf("'lst ¥t¥t%0.7f¥n",rc);
printf('2nd ¥t¥t%0.7f¥n",rc2);
printf('3rd ¥t¥t%0.7f¥n",rc3);
printf('¥n™);
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#include <stdio.h>
#include <stdlib.h>

int main(void)
{
int n; /*number of data */
float rnd();
float mat[5000000]; /*variable of matrix*/
int imat[5000000];
int i,j; /*number if ittration*/
float vyl1,y2,y3; /* yl:average, y2:2nd, y3:3nd */
float al,a2,a3;
int x0,x1,x2,x3,x4,x5,x6,X7,x8,x9;
float temp; /*variable of exchange*/
y1=0.0; y2=0.0; y3=0.0;
X0=0;x1=0;x2=0;x3=0;x4=0;x5=0;x6=0;x7=0;x8=0;%x9=0;

printf('¥n");
printf("¥n input number of data n= ");
scanf("'%d", &n);

for(1=0; i<n; i+t)
{
mat[i]=rnd();
yl=yl+mat[i];
y2=y2+mat[i]*mat[i];
y3=y3+mat[i]*mat[i]*mat[i];
imat[i]=(int) (10.0*mat[i]);
if(imat[i]==9) x9=x9+1;
else if(imat[i]==8) x8=x8+1;
else if(imat[i]==7) x7=x7+1;
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else if(imat[i]==6) x6=x6+1;
else if(imat[i]==5) x5=x5+1;
else if(imat[i]==4) x4=x4+1;
else if(imat[1]==3) x3=x3+1;
else if(imat[1]==2) x2=x2+1;
else if(imat[i]==1) x1=x1+1;
else if(imat[i1]==0) x0=x0+1;
}
printf(*'----- the number of occurrence for each i1----- "
printf('¥n™);
al=yl/(float)n;
a2=y2/(float)n;
a3=y3/(float)n;
printf("'lst average= %f¥n",al);
printf(*'2nd average= %f¥n",a2);
printf(*'3rd average= %f¥n",a3);
printf('¥n™);
return(0);

/* random function */
float rnd(){
static long i1x=1643;
long 1a=69069;
float r;
ix=1a*ix;
r=ix*2.32830643658698e-10;
if(ix<0) r=r+l1.0;
return r;
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#include <stdio.h>
float rnd();
float fan();
main(Q{
int n,i;
float b,s;
printf(""the number of scatter sands ");
scanf(*" %d", &n);
b=0;
for (i=1;i<=n;i++){
if (fan(rnd(),rnd())<=1) b=b+1.0;
}
s=b/n;
printf(""the number of scattered sands =%d¥n",n);
printf(""the number of sands in fan =%f¥n", b);
printf("area of circle =%f¥n",4.0*s);

/* fan function */
float fan (x,y) float x,y; {
return x*x+y*y;

/* rand function */
float rnd(){
static long ix=1643;
long 1a=1664525;
float r;
ix=1a*ix+37313;
r=ix*2.32830643658698e-10;
if (ix<0) r=r+l1.0;
return r;
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the number of scatter sands 10

the number of scattered sands =10
the number of sands in fan =8.000000
area of circle =3.200000

the number of scatter sands 100

the number of scattered sands =100
the number of sands in fan =78.000000
area of circle =3.120000

the number of scatter sands 1000

the number of scattered sands =1000
the number of sands in fan =777.000000
area of circle =3.108000

the number of scatter sands 100000 O 10°0]

the number of scattered sands =1000000 O 10*0J
the number of sands in fan =7842.000000

area of circle =3.136800

the number of scatter sands 1000000 OJ 10°0]

the number of scattered sands =10000001 [0 10°0
the number of sands in fan =78431.000000

area of circle =3.137240

the number of scatter sands 100000001 [0 10°C]

the number of scattered sands =100000001 [0 10°C]
the number of sands in fan =785416.000000

area of circle =3.141664
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